lim Vo + 1(vVx + 2 — Vo + 3)

T—00

: Vr+2++vr+3
=1 +1(Vz +2 -V +3)-
M e e ) e

Ve+1((z+2) — (z+3))

Multiplying conjugate

= 1i Using (a + b)(a —b) = a® — b?
vV 1
= — lim T Putting constants out of the limit
z=o0 \/x + 2+ x + 3
 lim Va+1 1/a:
= — lim
2o T+ 2+ +3 1/a?
—  im V1+1/z
a=o0 /14 2/z+/1+3/x
V1+0 .
= — lim — =0
V1I+04++vV1+0 n—0o N
_|_1
2
lim (1 — 32 + 2;1;3)1/1“
= hn%[(x (2% —x — 1)]V/* x —1 is a factor
T—>
= hn%[(a: 1)%(2z + 1)]/* Completely factorize
T—
= hm[(l x)3(1 + 22))/* (a—1b)*> = (b—a)
= hH(l)(l ) (1 + 22)1/® Index laws
T—
= (lim(l - x)Q/z> (lim(l + 2$)1/“”> lim(ab) = lim(a) lim(b)
z—0 z—0
AN 2\”* 2 1
= (lim (1—}——) ) (hm (l—l——) ) Substitute y = —, 2z = —
Yy—00 Y 2—$00 z x €T
=2\ 2 : I\" _
= (e77)(e”) nh_g)lo (1 + n) e

-]



